

The Sum of a number and 3 times its reciprocal is
$$\frac{28}{5}$$
.

Sind all Such numbers.

Let x be the number,

 $x + 3 \cdot \frac{1}{x} = \frac{28}{5}$
 $2 + \frac{3}{x} = \frac{5}{5}$
 $3 + \frac{3}{x} = \frac{5}{$

The difference of an integer and
$$3 + imes$$
 its reciprocal is $\frac{13}{4}$.

Sind all Such integers.

Let x be some integer,

$$x - 3 \cdot \frac{1}{x} = \frac{13}{4}$$

$$x - \frac{3}{x} = \frac{13}{4}$$

$$4x \cdot x - 4x \cdot \frac{3}{x} = 4x \cdot \frac{13}{4}$$

$$1 + \frac{13}{x} = \frac{13}{x}$$

$$1 +$$

The sum of the reciprocal of two Consecutive integers is
$$\frac{9}{20}$$
.

Sind all such consecutive integers.

Let $x \nmid x+1$ be two Cons. integers,

Their reciprocal is $\frac{1}{x} \nmid \frac{4}{x+1}$

Let $\frac{1}{x+1} = \frac{9}{20}$

Let $\frac{1}{x+1} + \frac{1}{x+1} = \frac{1}{x+1} = \frac{9}{20}$

Let $\frac{1}{x+1} + \frac{1}{x+1} = \frac{9}{20}$

Let $\frac{1}{x+1} + \frac{1}{x+1} = \frac{1}{x+1} = \frac{1}{x+1}$

Let $\frac{1}{x+1} + \frac{1}{x+1} = \frac{1}{x+1} =$

$$0=9 \quad b=-31 \quad C=-20$$

$$b^{2}-4aC = (-31)^{2}-4(9)(-20) = 1681$$

$$x = \frac{-b \pm \sqrt{b^{2}-4aC}}{2a} = \frac{-(-31) \pm \sqrt{1681}}{2(9)}$$

$$= \frac{31 \pm 41}{18} \quad x = \frac{31+41}{18} = \frac{72}{18} = \frac{44}{18}$$
Cons. integers are
$$x = \frac{31 \pm 41}{18} = \frac{72}{18} = \frac{44}{18}$$
Not an integer

```
Eric can do a job alone in 3 hrs

while Mark can do the Same job in

5 hrs alone.

How long if they work together?

Work work one

by + by = Complete

Eric Mark work

1.t + 1.t = 1

St + 3t = 15

Rt = 15

LCD = 15

LCD = 15
```

It takes Ashley 3 times longer than

Taylor to do a job alone.

Together, They can do it in 21 days.

How long if they work alone?

How long if they work alone?

Taylor
$$\rightarrow x$$
 by $+$ by $=$ Comp.

Ashley $\rightarrow 3x$ Taylor Ashley work

 $21 + 7 = x$ $\frac{1}{x} \cdot 21 + \frac{1}{3x} \cdot 21 = 1$
 $x = 28$

Taylor 28 Days

Expression $\frac{21}{x} + \frac{217}{x} = 1$

Ashley 84 Days

 $\frac{21}{x} + \frac{7}{x} = 1$

LCD $= x$

It takes Jerry 18 more minutes than Dan to wash a Car.

working together, They can wash the Car Dan $\rightarrow \chi$ in 12 minutes.

How long if they work alone? $\frac{1}{\chi} \cdot 12 + \frac{1}{\chi + 18} \cdot 12 = 1$ $12(\chi + 18) + 12\chi = \chi(\chi + 18)$ $12\chi + 216 + 12\chi = \chi^2 + 18\chi$ $24\chi + 216 = \chi^2 + 18\chi$ $\chi^2 + 18\chi - 24\chi - 216 = 0$

$$\chi^{2} - 6\chi - 216 = 0$$

$$0 = 1 \quad b = -6 \quad C = -216$$

$$b^{2} - 40C = (-6)^{2} - 4(1)(-216) = 900$$

$$\chi = \frac{-b \pm \sqrt{b^{2} - 40C}}{20} = \frac{6 \pm \sqrt{900}}{2} = \frac{6 \pm 30}{2}$$

$$\chi = \frac{6 + 30}{2} \qquad \chi = \frac{6 - 30}{2}$$

$$\chi = 18 \qquad \text{Dan 36 mins}$$

Simplify:
$$5$$
 3 $x^2-2x-15$ x^2-25

$$= \frac{5(x+5)}{(x-5)(x+3)(x+5)} - \frac{3(x+3)}{(x+5)(x-5)(x+3)}$$

$$= \frac{5x+25-3x-9}{(x-5)(x+3)(x+5)} - \frac{2x+16}{(x-5)(x+3)(x+5)}$$

Simplify:
$$3x^2 + 5x - 2$$
 $2x^2 + 5x + 6$ $9x^2 + 6x + 1$

$$= \frac{(3x - 1)(x + 2)}{(3x + 1)(3x - 1)} \cdot \frac{(3x + 1)(3x + 1)}{(x + 3)(x + 2)}$$

$$= \frac{3x + 1}{2x + 3}$$

Solve

$$\frac{x+3}{x^2-5x}$$
 $\frac{24}{x^2-25}$

Hint: Cross-Multiply

 $(x+3)(x^2-25) = 24(x^2-5x)$
 $x^3-25x+3x^2-75 = 24x^2-120x$
 $x^3-25x+3x^2-75 = 24x^2-120x$
 $x^3+3x^2-25x-75-24x^2+120x=0$
 $x^3-21x^2+95x-75=0$

Divide the LHs by $x-5$, doing long

 $x^2-16x+15$
 $x-5[x^3-21x^2+95x-75]$
 $x=-16x^2$
 $x=-16x^2$
 $x=-15x$
 $x=-16x^2$
 $x=-15x$
 $x=-15x$

$$x^{3} - 21x^{2} + 95x - 75 = 0$$

Since we divided by $x-5$, and the remainder was zero, $x-5$ is a factor $(x-5)(x^{2} - 16x + 15) = 0$ $\begin{cases} \frac{28}{4} = 7\\ 4.7 = 28 \end{cases}$ $(x-5)(x-15)(x-1) = 0$ by $z = 7$. Fig. $x = 7$. x

The sum of two numbers is 5.

twice one of them reduced by 3 times

the other one is -5.

use system of linear equs to find

both numbers. $3 \begin{cases} x + y = 5 \\ 2x - 3y = -5 \end{cases}$ The numbers 5x = 10 x = 2 2 + y = 5 2 + y = 5 2 + y = 5

Solve
$$\stackrel{\cancel{\xi}}{\cdot}$$
 graph
$$6-3x \leq x+18$$

$$-3x-x \leq 18-6$$

$$-4x \leq 12$$

$$\begin{array}{c}
-3,\infty
\end{array}$$

Simplify
$$\left(\frac{-3x^{-4}}{2y^{-6}}\right)^{-4}$$

$$= \left(\frac{-3y^{6}}{2x^{4}}\right)^{-4} = \left(\frac{2x^{4}}{-3y^{6}}\right)^{-3} = \frac{16x^{16}}{81y^{24}}$$

Divide:
$$\frac{25x^3 - 10x^2 + 5x}{-5x^2}$$

$$= \frac{25x^3}{-5x^2} - \frac{10x^2}{-5x^2} + \frac{5x}{-5x^2}$$

$$= -5x + 2 - \frac{1}{x}$$

Class QZ

FOIL, Simplify, then Solve by using Quadratic formula:

$$(3x+1)(2x-1)=4$$